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® BX|AO| A=7|E AX|otd 5 £7|3tHO|A 1.Measurement ENTER

—2.Standard Miasma. ENTER — Input file name--[TEST] (F5 keyE =24
O™ (AX|EO| A Rt Tr) A St fileS MHEASICH

—Input file name-->[TEST] ENTER

Q% 0.5 ZIMA| 2.Esc &2 X A=

\
<Standard miasma> <link coordinates> <link <Link coordinates>
1.Additional miasma. Link point num. [2] coordinates> dx: 0.0000m
2.Change station Input 1st point Link point num. dy: 0.0000m
o num. [2] —’9dZZ 0.0000m
----- >[ ] Input 2nd point 1.Conf, 2.Esc 3.err
num.
>y L >[ ]ﬂ

1.7C(>|'H|7|' AX'IE.IEEl_El El’%ﬂ AXHS.'EEI‘E' EI‘%'J DX,Dy,DZﬁIC)l 0.5mm

0|5 90| A= 1t 7= POINT 2H A= POINT O|Lf A] 1HENTERZE
27|/ 8 HE =7 NO ol&d & A= NO &3 = A= BX|E OFX|2} POINT

A= (ENTER ENTER) (ENTER,ENTER) Ol A& A=
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HEAS2HH
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<Origin measmt>
Point number

F2:REV.[NO]
F4:Measmt method

<Std. Measmt met>
Set Present No:[ ]

1.0rigin=1 X-axis=2
2X=pt 1,2 Y=pt 3
3.X=pt 1,2 z=pt 3
4.To previous menu

<X-1st pt Measmt>
Point number

F4:Measmt method

F4 key ENTER

238 T AS U
X|H = Clear key

[001] POINT A|E 2

v
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Point number

[002] POINT A|
[ENTER] 32| &+

A
3
(0]
>
@)

A 4

I M

[003] POINT A|
[ENTER] 32| -2
003H XtEE=H

<Single target>
X: -0.0012m

Y: 0.0000m

Z: 0.0243m
1.Accept 2.Esc
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<Origin measmt> <Origin measmt> <Origin measmt> <Dist.btw.target> <Paired Targets>
Point number Point number Point number 1.Equal distance Point number
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